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            Prepare a pictograph of these animals using one symbol to represent 10 animals.                                              

Q.19  A floor is 5m long and 4m wide. A square carpet of sides 3m is laid on the floor. Find the area of the              

           floor that is not carpeted.                                                                                                                                       

Q.20   Draw a rough sketch of a regular hexagon. Connecting any three of its vertices, Draw a triangle.                     

Q.21   Determine if the ratio form a proportion. Also,write the middle terms and extreme terms.                           

             a) 25cm :1cm and Rs 40 : Rs 160                                                                                                                        

Q.22   Draw a circle of radius 3.2cm.  

  

                                                SECTION D                                              (4 X 8 = 32) 

Q.23   Draw a circle of radius 4cm.Draw any two of its chords.Construct the perpendicular bisectors of these             

          chords. Where do they meet?                                                                                                                                 

Q.24   Anish made 42 runs in 6 overs and Anup made 63 runs in 7 overs Who made more runs per over?                    

Q.25   How many tiles whose length and breadth are 12cm and 5cm respectively will be needed to fit in a                  

          rectangular region whose length and breadth are respectively  100cm and 144cm.                                       

                                                                               OR                                                                                                      

          Ila read 25 pages of a book containing 100 pages. Lalita read 
5
2 of the the same book. Who read less? 

Q.26   Find the missing fraction  a) …….+ 
27
12

27
5

               b) 
10
3.....

10
7

  

Q.27  Tina had 20m 5cm long cloth. She cuts 4m 50cm length of cloth from this for making a curtain.How 
much  cloth is left with her?                                                                                                                                  

Q.28   Use number line and add the integers. a) (-1) + (-2) + (-3)      b) (-5) + 10                                            

Q.29   Draw any line segment, say AB. Take any point C lying in between A and B. Measure the length of                

           AB, BC and AC. Is AB = AC + CB? 

Q.30   A survey of 120 school students was done to find which activity they prefer to do in their free time.                 

            

Preferred activity                                Numbers of students 
Playing 
Reading                                                                        
Watching TV 
Listening to music  
Painting  

45 
30 
20 
10 
15 

Draw a bar graph to illustrate the above data taking scale of 1 unit length = 5 students. 
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